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PHYSICS

BOOKS - FULL MARKS PHYSICS (TAMIL
ENGLISH)

SAMPLE PAPER-1 (SOLVED)

1. When the current changes from + 2A to -2A

in 0.05 s, an emf of 8 V is induced in a coil is


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_TnjKhjGjvdsy

co-efficient of self-induction of the coil is

A.0.2H

B.O4 H

C.08 H

D.0O1H

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_TnjKhjGjvdsy

2.1f A\,, Az, and A\, represent the wavelengths

of visible light, X-rays and microwaves

respectively, then:

A, > A, > A,

B. A\, > A, > A,

CAy, > Ay > Ap

D.\v > Az > \m

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_W7NumehLZ8t2

3. The materials used in Robotics are

A. Aluminium and silver

B. Silver and gold

C. Copper and gold

D. Steel and aluminium

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_DNdwd8weFHOC

4. Two wires of A and B with cirular cross
section made up of the same material with
equal lengths.Suppose R4 = 3Rp, then what

is the ratio of radius of wire A to that of B ?

A3

B. /3

1
C.—

V3
1

D. —
3

Answer:

‘ ° Wiak lh \AAA CAaliikianm



https://dl.doubtnut.com/l/_urrXwpSJQZ0O
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5. The frequency range of 3 MHz to 30 MHz is

used for

A. Ground wave propagation

B. Space wave propagation

C. Sky wave propagation

D. Satellite communication

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_urrXwpSJQZ0O
https://dl.doubtnut.com/l/_BR2duxykKZk7

6. A ray of light strikes a glass plate at an
angle 60° . If the reflected and refracted rays
are perpendicular to each other, the refractive

index of the glass is,

>
<
wl

Answer:



https://dl.doubtnut.com/l/_BR2duxykKZk7
https://dl.doubtnut.com/l/_0B5IIa6R6k5N

\ o Watch Video Solution

7.1f voltage applied on a capacitor is increased

from V to 2V:

A. Q remains the same, C is doubled

B. Q is doubled,C doubled

C. C remains same, Q doubled

D. Both Q and C remain same

Answer:

l o Watch Video Solution


https://dl.doubtnut.com/l/_0B5IIa6R6k5N
https://dl.doubtnut.com/l/_awaAg5BcxBhv

8. The nucleus is approximately spherical in
shape. Then the surface area of nucleus

haviing mass number A varies as.

A A2/3

B. A%/3

c. Al/3

D. A5/3

Answer:



https://dl.doubtnut.com/l/_awaAg5BcxBhv
https://dl.doubtnut.com/l/_QqfSs8MwsmBQ

| & Watch Video Solution

9.The given electrical network is equivalent to:

= e

A. AND gate
B. OR gate
C.NOR gate

D. NOT gate

Answer:



https://dl.doubtnut.com/l/_QqfSs8MwsmBQ
https://dl.doubtnut.com/l/_aigwKYXYKOzd

| & Watch Video Solution

10. A wire of length | carries a current | along

the Y direction and magnetic field is given by

= B .

B = —(I + 7+ k)T. The magnitude of
V3

Lorentz force acting on the wire is

2
.‘/— 1l
A \/§B
/1
| —=pBIl
B \/§ﬂ


https://dl.doubtnut.com/l/_aigwKYXYKOzd
https://dl.doubtnut.com/l/_DPJ8VHgMU8I2

Answer:

o Watch Video Solution

11. When a point charge of 6uC is moved
between two points in an electric field, the
work done is 1.8 x 10" °J. The potential

difference between the two points is :

A.1.08V
B.1.08uV

C.3V


https://dl.doubtnut.com/l/_DPJ8VHgMU8I2
https://dl.doubtnut.com/l/_peF5On7WjBj2

D. 30V

Answer:

o Watch Video Solution

12. The wavelength A, of an electron and A, of

a photon of same energy E are related by

A, < A,

B. A, o VA,
1

CAp X —


https://dl.doubtnut.com/l/_peF5On7WjBj2
https://dl.doubtnut.com/l/_BMig7BwEsmWW

D. A, oc A

Answer:

o Watch Video Solution

13. In a myopic eye, the image of the object is

formed

A. convex lens

B. concave lens

C. cylindrical lens


https://dl.doubtnut.com/l/_BMig7BwEsmWW
https://dl.doubtnut.com/l/_h5sYS2Mvt4wm

D. plane glass

Answer:

° Watch Video Solution

14. In a T.G. experiment , for two different
values of current , the deflections are
45° and 30° respectively , then the ratio of

the current is

A2:3


https://dl.doubtnut.com/l/_h5sYS2Mvt4wm
https://dl.doubtnut.com/l/_XF3yf3PWFGFE

B.3:2
C. \/5:1

D.1:4/3

Answer:

o Watch Video Solution

15.If the current gain a of a transistor is 0.98,

what is the value of 8 of the trnasistor ?

A.0.49


https://dl.doubtnut.com/l/_XF3yf3PWFGFE
https://dl.doubtnut.com/l/_5rAl0bhrCrsa

B. 49

C.49

D.5

Answer:

o Watch Video Solution

1. What is meant by Fraunhofer lines?

l o Watch Video Solution


https://dl.doubtnut.com/l/_5rAl0bhrCrsa
https://dl.doubtnut.com/l/_nwqI8jGV9Rls

2. Why steel is preferred in making Robot?

° Watch Video Solution

3. State Lenz's law.

° Watch Video Solution

4. Why do clouds appear white?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_nwqI8jGV9Rls
https://dl.doubtnut.com/l/_1A1h00Jg0e1n
https://dl.doubtnut.com/l/_tsd4boQjkPkf
https://dl.doubtnut.com/l/_goTbeZBF1N18

5. Calculate the radius oj}lg7 Au.

° Watch Video Solution

6. Explain the need for a feedback circuit in a

transistor oscillator.

o Watch Video Solution



https://dl.doubtnut.com/l/_goTbeZBF1N18
https://dl.doubtnut.com/l/_X09oah1K79Ay
https://dl.doubtnut.com/l/_RonK8LJ0Ni4Y

7. Show graphically the variation of electric
field E (y-axis) due to a charged infinite plane

sheet with distance r (x-axis) from the plate.

o Watch Video Solution



https://dl.doubtnut.com/l/_Ey1F0rmprvBr
https://dl.doubtnut.com/l/_gJR49aleK1Xb

8. Write the applications of internet.

o Watch Video Solution

9. Calculate the magnetic field inside a
solenoid when the number of turns is halved
and length of the solenoid and the area

remain the same.

o Watch Video Solution



https://dl.doubtnut.com/l/_gJR49aleK1Xb
https://dl.doubtnut.com/l/_gWqVw1Nzak8v

10. Two cells each of 5V are connected in series
across a 8 resistor and three parallel
resistors of 42, 6{2 and 12{2. Draw a circuit
diagram for the above arrangement. Calculate
(i) the current drawn fron the cell (ii) current

through each resistor.

° Watch Video Solution

11. Write a note on transformer.

° Watch Video Solution



https://dl.doubtnut.com/l/_lkcExNQuzpht
https://dl.doubtnut.com/l/_uLBuZ3lecZss

12. Discuss the alpha decay process with

example.

o Watch Video Solution

13. Obtain the expression for the energy

stored in a parallel plate capacitor.

o Watch Video Solution



https://dl.doubtnut.com/l/_uLBuZ3lecZss
https://dl.doubtnut.com/l/_gvbtXehe5RHV
https://dl.doubtnut.com/l/_FecgerPtEjMR

14. Explain any three recent advancements in

medical technology.

° Watch Video Solution

15. Two light sources with amplitudes 5 units
and 3 units respectively interfere with each
other. Calculate the ratio of maximum and

minimum intensities.

o Watch Video Solution



https://dl.doubtnut.com/l/_BZeqsY1e6CKt
https://dl.doubtnut.com/l/_MtZOYC8H2b2U
https://dl.doubtnut.com/l/_cJ5IggKgyEFg

16. An electron moves in a circular orbit with a
uniform speed v. It produces a magnetic field B

at the centre of the circle. Prove that the

7
radius of the circle is proportional to 4/ 5

o Watch Video Solution

17. Give the construction and working of photo

emissive cell.

° Watch Video Solution



https://dl.doubtnut.com/l/_cJ5IggKgyEFg
https://dl.doubtnut.com/l/_46IFlhTdTDFQ
https://dl.doubtnut.com/l/_T817v2ZfnmYY

18. In the circuit shown in the figure, the input
voltage V; = 4+ 5V,Vpg = 4+ 0.8V and

Voe = + 0.12V. Find the values of Iglc and

8.

vik ¥

o Watch Video Solution



https://dl.doubtnut.com/l/_T817v2ZfnmYY

19. Obtain the expression for electric field due

to an uniformly charge spherical shell.

o Watch Video Solution

20. Write any five properties

electromagnetic waves.

of

o Watch Video Solution



https://dl.doubtnut.com/l/_bMJBaCYUMebK
https://dl.doubtnut.com/l/_MHQrRjb8JnfQ

21. What is modulation? Explain the types of

modulation with necessary diagrams.

° Watch Video Solution

22. Find the expression for the mutual

inductance between a pair of coils and show

that (M12 = Mgl) .

° Watch Video Solution



https://dl.doubtnut.com/l/_HaBgeOe2wiFZ
https://dl.doubtnut.com/l/_hrFtxjVyy3zy

23. Derive the expression for the radius of the
orbit of the electron and its velocity using

Bohr atom model.

o Watch Video Solution

24. Discuss the working of cyclotron in detail.

o Watch Video Solution



https://dl.doubtnut.com/l/_9VYjcm6vHJcQ
https://dl.doubtnut.com/l/_qePETpoHsFPe

25. Obtain lens maker's formula and medium
its signification. Lens maker's formula and lens

equation:

o Watch Video Solution

26. Explain the construction and working of a

full wave rectifier.

° Watch Video Solution



https://dl.doubtnut.com/l/_gw0nsYwnJs3u
https://dl.doubtnut.com/l/_n9CTwZOUxaFq

27. An electron is accelerated through a
potential difference of 81V. What is the de
Broglie wavelength associated with it? To
which part of electromagnetic spectrum does

this wavelength corresspond ?

o Watch Video Solution

28. A cell supplies a current of 0.9 A through a

1Q resistor and a current of 0.3 A through a


https://dl.doubtnut.com/l/_gISH8rPsM97p
https://dl.doubtnut.com/l/_ebCRPpzCg4gI

2Q) resistor. Calculate the internal resistance

of the cell.

° Watch Video Solution



https://dl.doubtnut.com/l/_ebCRPpzCg4gI

